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One More (Page 52-54)

How many altogether ?
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Addition

1 lcow

COWS

3 |children and

Question 1:
Add the following:

(a)

children

Flowers and

Flowers

Flowers
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5 | Flowers and 2 Flowers

(b)

Birds and Birds = Birds

Answer:
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How many altogether?

6 and 2 =
Question 2:
Add the following:
(a)
and =

Answer:
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(b)

Answer:
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and

(o)

and
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Answer:
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and

and

Question 3:
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Add the following:
(@

Answer:

(b)
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Answer:

Addition (Page 55 - 57)

... +

2 + 3

I
<)
gLl N

Question 1:
Add the following:
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Addition
(a)
4
4 + 2 = 4 92
Answer:
l 1
4+ 2 =6 + 2
6
(b)
5
5+ 1 = 4. 4
Answer:
6 5
5 + 1 = & 1
6

(o)
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Addition
3
3 + 6 = + 6
Answer:
3
3 +6=9 + 6
9
(GY '
7 + 0 = 7
+ 0
I
Answer: ,
7+ 0=7 7
+ 0
7

(e)
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[
0 9 ?
-+ —
+ 9
Answer: ‘
0 9 e
-+ =
9 + 9
9

balloons
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Question 2:
Add the following:

(a)

Answer:

(b)
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Question 3:
Add the following;:

(a)

Answer:
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(b)

i

e
e
S
~

Ié;//

Answer:

e

(o)

Answer:
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Add and Match (Page 58)

l_

Question 1:
Add and match the following;:

.\ 000 ‘3+3
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Add (Page 59)

Question 1:
Add the following:
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2 +7 =

3+ 5 =

4 + 0 =

Answer:

2+7=1|9

3+ 5 = 8

4 + 0

I
N SN

Question 2:
Add the following:
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0+ 2 =

3 +4 =

0+ 2 =

3 +4 =

Addition
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Answer:

O o w

+

@ |w

Oriw N

N &

oo Ylwo

9
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5 3
2 + 3
6 1
3 + 7
5 3
0 + 4

3

+ 3

(63

1

+ 7

8

3

+ 4

Z

Write the missing numerals (Page 60)

Question 1:

Addition
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+
+
+
+
Answer:
2 +
3 +
2 +
4 |+
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+ = 6

+ = 3

] = 9

+ = 1

4 = 2 = 6
2 4 | = 3
4 |+| 5 = 9
1 + O = 1

Addition



